dQ r
dQ

4re,r

dQ =4-adg,r = (a2 +x?)

dg = alde

1
472'6‘0(3.2 + x2)2

4= J'OZE aldg

1
Are, (a2 + x2)2

_ad 2r
- 4rs, (

1

2

10



ds E

odS



2 2
A ﬂrz . :r_zl
m®-1 a
2
2ar - E :ir—zz
& a
E= M
27e,a
_Q_ 5007 x10° " 9
p=g=— e =20x10 [C/m?]
ds dQ dQ = pdS = prdrd¢
50[uC] dS  (0,0,5)
R R=-ra, +5a, ( )
dF

4F __9Q 5:(50x10-6)(prdrd¢)_[—rar+5aZJ

= 4re,R* R 4”80([.2 +25)2 [¢2 1 o5

FZT'S[(50><10‘6X2.0><10‘5)rdrd¢. 5
20 4rey(r? +25) e R

zzﬁ (5ox1o-6)(2.ox10-5)5rdrd¢az
00

| SOpc

3

4, (r? +25)

_ 50x107*° Z”jl r drd da

Amso oo (r? 4 25)% i
_25x107 ¢ r

€o (r2 +25)%

=25x10-“[ 1 }Sa _5x10°" [Pija

dra

o—

0

(0,0,5)

eI d==rdrdg



